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20∘ 16.8	nΩ ⋅ m
120∘ 0.5	W/m∘

20∘

= 50kbar ⋅∘ ×
L = 0.0975

=Tw 100∘

=T∞ 20∘ U∞

k = 0.01	W/m C⋅∘

ρ = 1	kg/m3

= 1000	J/kg Ccp ⋅∘

μ = 	kg/m ⋅ s10−5

=Ttip 40∘

=?U∞

=Tw 100∘ =T∞ 20∘ U∞



= 1000	hcontact
2⋅∘

∘

−30∘

= 40ho
2⋅∘

= 2.0	kice ⋅∘

ρ = 1000	 			kg/m3

μ = 8.6 × 	kg/m ⋅ s			10−4

k = 0.60	W/m C			⋅∘

= 4186	J/kg Ccp ⋅∘

∘

= 0.50ks ⋅∘

=Twalls 20∘

=T∞ 20∘

S = (1 − 2000 )S0 r2 3 r

=Tr=0.01 m 120∘

=Tr=0 139.74∘

k = 0.025	W/m C⋅∘

ρ = 1	kg/m3

= 1000	J/kg Ccp ⋅∘

μ = 2.0 × 	kg/m ⋅ s10−5

β = 0.003	K−1

g = 9.81	m/s2
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